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A WORD TO MY DEAR STUDENTS

It gives me great pleasure in presenting the Students' Support Material to all
KV students of class XII.

The material has been prepared keeping in mind your needs when you are
preparing for final exams and wish to revise and practice questions or when
you want to test your ability to complete the question paper in the time allotted
or when you come across a question while studying that needs an immediate
answer but going through the text book will take time or when you want to
revise the complete concept or idea in just a minute or try your hand at a
question from a previous CBSE Board exam paper or the Competitive exam to
check your understanding of the chapter or unit you have just finished. This
material will support you in any way you want to use it.

A team of dedicated and experienced teachers with expertise in their subjects
has prepared this material after a lot of exercise. Care has been taken to
include only those items that are relevant and are in addition to or in support of
the text book. This material should not be taken as a substitute to the NCERT
text book but it is designed to supplement it.

The Students' Support Material has all the important aspects required by you; a
design of the question paper, syllabus, all the units/chapters or concepts in
points, mind maps and information in tables for easy reference, sample test
items from every chapter and question papers for practice along with previous
years Board exam question papers.

I am sure that the Support Material will be used by both students and teachers
and I am confident that the material will help you perform well in your exams.

Happy learning!

W\

Santosh Kumar Mall
Commissioner, KVS
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FOREWORD

The Students' Support Material is a product of an in-house academic exercise
undertaken by our subject teachers under the supervision of subject expert at
different levels to provide the students a comprehensive, yet concise, learning
support tool for consolidation of your studies. It consists of lessons in capsule
form, mind maps, concepts with flow charts, pictorial representation of
chapters wherever possible, crossword puzzles, question bank of short and long
answer type questions with previous years' CBSE question papers.

The material has been developed keeping in mind latest CBSE curriculum and
question paper design. This material provides the students a valuable window
on precise information and it covers all essential components that are required
for effective revision of the subject.

In order to ensure uniformity in terms of content, design, standard and
presentation of the material, it has been fine tuned at KVS Hgqrs level.

I hope this material will prove to be a good tool for quick revision and will
serve the purpose of enhancing students' confidence level to help them perform
better. Planned study blended with hard work, good time management and
sincerity will help the students reach the pinnacle of success.

Best of Luck.

U.N. Khaware
Additional Commissioner (Acad.)

(111)
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BLUE PRINT FOR CLASS XII ECONOMICS
SUBJECT: ECONOMICS CLASS: XII

Time — 3 Hours

Maximum Marks — 100

UNIT NO

NAME OF UNIT

WEIGHTAGE

MARKS DISTRIBUTION

1 MARK

3 MARKS

4 MARKS

6 MARKS

TOTAL MARKS

SECTION A: MICRO ECONOMICS (50 MARKS)

INTRODUCTION

6

=

(o)

II

THEORY OF CONSUMER
BEHAVIOUR & DEMAND

16

II

I

16

III

THEORY OF PRODUCTION &
SUPPLY

16

II

II

16

v

FORMS OF MARKET & PRICE
DETERMINATION

12

II

12

TOTAL 50

S

33)

3(4)

4(6)

15(50)

SECTION B: MACRO ECONOMICS (50 MARKS)

NATIONAL INCOME ACCOUNTING

15

II

I

I

15

VI

MONEY & BANKING

8

II

VII

THEORY OF INCOME
DETERMINATION

12

12

VIII

GOVT. BUDGET & ECONOMY

IX

BALANCE OF PAYMENTS & FOREX
RATE

TOTAL 50

5(1)

3(3)

3(4)

4(6)

15(50)

GRAND TOTAL 100

10 (1)

6(3)

6(4)

8(6)

30(100)
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Duration: 3 hrs

S.

No.

Typology of Questions

Very Short
Answer
MCQ
1 Mark

Short
Answer
1
3 Marks

Short
Answer
I
4 Marks

Long
Answer
6 Marks

Marks

Y%

Remembering- (Knowledge based
Simple recall questions, to know
specific facts, terms, concepts,
principles, or theories; identify,
define, or recite, information)

25

25%

Understanding- (Comprehension
to be familiar with meaning
and to understand conceptually,
interpret, compare, contrast,
explain, paraphrase, or interpret
information)

25

25%

Application- (Use abstract
information in concrete situation,
to apply knowledge to new
situations; Use given content to
interpret a situation, provide an
example, or solve a problem)

20

20%

High Order Thinking Skills-
(Analysis & Synthesis- Classity,
compare, contrast, or differentiate
between different pieces of
information, organize and/or
integrate unique pieces of
information from a variety of
sources)

20

20%

Evaluation- (Appraise, judge,
and/or justify the value or worth of
a decision or outcome, or to predict
outcomes based on values)

Total

10x1=10

6x3=18

6x4=24

8x6=48

10

100(30)

10%

100%

Note: There will be Internal Choice in questions of 3 Marks, 4 Marks and 6 marks in both sections (A and B).
(Total 3 internal choices in section A and total 3 internal choices in section B).
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LATEST CBSE QUESTION PAPER -2016
FOR CLASS -XII ECONOMICS

Series ONS SET-1

SN LI dkM u-
T o SN 58/1

1jh{kFki dkM dk mYkj&ifLrdk d
e[}&i’B ij vo’; fy[kA

Candidates must write the code on the title
page of the answes-book

= di;ktkpdjy:fdbl 1’u&i=eiefnr i"B 12 gA

= 1’u&i= e nkfgu gkFk dh vkj fn, x, dkM utcj dk Nk= m¥kj&ifLrdk d e[k&i’B ij
fy [kA

= di;ktkpdjy:fdbl i’u&i=ei 30 i’u gA

= dizkiru dkmbkj fy[kuk k= dju b igy] i’u dk @ekd vo’; fy[kA

= bl 17u&i=dk i<u d fy, 15 feuV dk le; fn;k x;k gA 1”u&i= dk forj.k tokgu e
10-15 ctt fd;k tk,xkA 10-15 ctt I 10-30 ct rd Nk= doy 1”u&i= dk i< vkj bl
vof/k d nkjku ormYkj&ifLrdk 1j dkb mYkj ugh fy [kxA

= Please check that this question paper contains 12 printed pages.

s Code number given on the right hand side of the question paper should be written on the title
page of the answer-book by the candidate.

= Please check that this question paper contains 30 questions.
= Please write down the Serial Number of the question before attempting it.

= 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. from 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.

"ooNI'ooVE
ECONOMICS

ferfRa & : 3 Tgve S7ferBaT 3F - 100
Time allowed : 3 hours Maximum Marks : 100
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()  <F ETel & 9 gs orfard € |

() UXD IS B AT SD b TV T |

(iil) ST AT 15 3R 16—20 3T oY ITNI IS &, TID TS 1 31 BT & | I TSI & IR U
AR H AT |

(iv) UST =T 6-8 3R 21—23 oY ITF TS €, TS U 3 3fF &1 © | T4 IS & SR
AT 60 TTaT W M 1 8 |

(v) TSI T 9—11 3fR 24—26 T8 W) oY IR IS €, TS TS & 4 37 ¢ | 9 U= & SR
AT 70 ST&T H 37fed 1 8 |

(vi)  UST T 12—15 3R 2730 <€ STRT TS €, TS TS & 6 3h & | T TS & IR
ATHTIA: 100 TaT ¥ 37 7 & |

(vii) SWRIEd TS & IR AT gd FEl 8 A2y dT AT FEETTER e AT & Wia”
IR AT ST =12 |

Instructions

(i) All questions in both section are compulsory.

(ii)  Marks for questions are indicated against each question.

(iii)  Question No.1-5 and 16-20 are very short answer questions carrying I mark each. They are
required to be answered in one sentence.

(iv)  Question No.6-8 and 21- 23 are short answer questions carrying 3marks each. Answers to
them should not normally exceed 60 words each.

v) Question No.9-11 and 24-26 are also short answer question carrying 4marks each. Answers
to them should not normally exceed 70words each.

(vi)  Question No. 12-15 and 27-30 are long answer questions carrying 6 marks each. Answers
should not normally exceed 100 words each.

(vii)  Answers should be brief and to the point and above word limit be adhered to as for as

possible.
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SECTION-A

IS ol 3Tl ST I B, A1 i UiRe] T SR JARId el AT | o1 dae e 1

What is the relation between average variable cost and average Total cost, if Total fixed cost
is Zero?

TP BH U avxg @ faei |l AT & T SHd R 99 GEhdl 2 | BH dl Gid aei
(emm): (@ fawed gf) - 1
(a) Sia =it 1 3rfde gRf

(b) 3fd =T & &+ 8T

(c) 3fad =t & a1 8T

(d) 3 &

A firm is able sell any quantity of a good at given price. The firm's marginal revenue will be;
(Choose the correct alternative) :

(a) Greater then Average Revenue
(b) Less than Average Revenue

(¢) Equal to Average Revenue

(d) Zero

AT H gRadT w9 A 27? 1
When does, change in demand, take place?

sl Icure sH@ U femar 7 - (92 fdeed gim) - 1

(a) ®ad YHIHIRG Ufrfrar @t

(b) DI JATNABR DI

(c) UBIIBIRG AR 3R U dR SHi &I
(d) THIEDR B

Differentiated products is a characteristic of : (Choose the ccorrect alternative) :

(a) Monopolistition Competition only

(b) Oligopoly only

(c) Both monopolistic and oligopoly

(d) Monopoly

9 IR H Ud HH HT A6 9% qUiddT dheR BT B ¢ (9 fdeed gim) 1
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Demand curve of a firm is perfectly elastic under : (Choose the correct alternative)

(a) Perfect competition

(b) Monopoly

(¢) Monopolistic competition

(d) Oligopoly

T IUHIHRTT bde al gegall X 3R Y BT SUIRT el & | X AR Y & Arid SUATRIT HH: 3

AR 47| X AR Y QI & FHIHA T 4 U 3HIS © | FIT ST Al H 7 IUHIGT Bl 3T
gfafar aar 8rfi? dRoT ST | 3

A consumer consumes only two goods X and Y. Marginal utilities of X and Y are 3and 4
respectively. Prices of X and Y are 4 per unit each. Is consumer in equilibrium ? What will be
further reaction of the consumer ? Give reasons.

I B DT H 10 YT i BT IHH! JT TR T Y91 BT IS ART Bl D1 @ (a) I,
(b) —1, (¢) —2 =1 | 3

What will be the effect of 10 percent rise in price of a good on its demand if price elasticity of
demand s (a) Zero, (b) -1, (c)-2

IATH DT AT A T IMAUTRI 57 $HSD IROMH T3S | 3
VFkok

IS T IR S A DHAd A 3AfSd 8, A1 39D HRYT TS dlel YHTal Bl Sl

SREIEN

What is minimum price ceiling ? Explain its implications.
OR

Ifthe prevailing market price is above the equilibrium price, explain its chain effects.

HRT BT gRATYT IRV | ITSTR FT BT GATFAT B dTed RSB I8V | 4

Define demand Name the factors affecting market demand.

3TEA AT T IRETT SISTY | T I&TER0T SIRTY | BRI gaid §U AASSY fdb Sie—oid
IcTe H gfeg B STl 8 3 el AN Dl FISR FIT ST 67 4

VFkok
AT IcUTE BT IRETST ST | ST9 DHael U ATTT H Jleg DI S AR 3= T Dl R 4T

ST 1 HHTd TS BT IdER Id13U |

Define fixed cost . Give an example . Explain with reason the behaviour of Average fixed cost as
outputis increased.

OR

Define marginal product state the behaviour of marginal product when only one input is
increased and other inputs are held constant.

19 Th IS BT BT T12 Ufd Shls W gehr T 9 Ui Shis 81 9l &, d STEHh SIS &l
it 75 UIererd ¥ BT & | el Bl SIAd ard SId DIy | 4

6
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When price of a commodity falls from < 12 per unit to I 9 per unit, the producer supplies 75
percent less output. Calculate price elasticity of supply.

U rfeavel § dwd THATY 7 UeT 8t 27 fhad fore Scured fohar S et e
NEEIEN 6

Why do central problems of an economy arise ?Explain the central problem of "for whom to
produce"?

JTTEATT Ighi T I fARTSATRAT &l AT BHIFU | 6

Explain three properties of indifference curves.

(a) g X DI 37U DA AR 37
(b) I X W IR P &R 981 BT Yl T IR U1 aTell G4 FHSMST | X@TAT BT YA

P | 6

Examine the effect of a fall in the own price of good X and (b) rise in tax rate on good X, on the
supply curve. Use diagrams.

St uRiemfeil & forg Uee W& 14 & I W)
(a) T X DI U AT MR+ AR

(b) T X TR B B &R 9 BT Yf] IR G9TT 9T BT Yl UR G9Td FHSSY | ATTeTehT BT YA
IS |
For blind candidates in lieu of Q. No 14.

Examine the effect of (a) fall in the own price of good X and (b) rise in tax rate on good X on
supply ofa good. Use schedule.

U quf Uit otk | FfeiRaa & gRoml &f Rem STy - 6
(a) faspael @1 91 Awa
(b) THHY ST

arerar

U JTHR dToTR H fF=iferRad @ aRomAl @1 aamer aifoig -
(a) T8 BHI & Y H BbraC
(b) DI BB A KB IS IS
Explain the implications of the following in a perfectly competitive market.
(a) Largenumber of sellers
(b) Homogeneous products.
OR
Explain the implications of the following in an oligopoly market;
(a) Barriers to entry of new firms

(b) Afew orafew bigsellers.
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SECTION - B
16. TATE Bl URYTYT SIfT | 1
Define flows
17. FF=IfeIRad &1 UTd HRS MM BT AT IS N HEeAdl & : (Fe! f[adhey gi) 1
(a) IR®
(b) aTfefe aram
(c) fraredr
(d) Trar SiR AR—fard S
National income is the sum of factor incomes accruing to : (Choose the correct alternative)
(a) Nationals
(b) Economic territory
(c) Residents
(d) Bothresidents and non-residents
18. WP dofc H ToRg YTl | a7 37U 57 1
What are revenue receipts in a government budget?
19. UTAf¥es ©TCT $9@ FAM Bl @ : (F8] [ddhey gy) 1
(a) T
(b) TSt YT
(c) T TeT TS YA
(d) T 3IR TS I Qi
Primary deficit equals : (Choose the correct alternative)
(a) Borrowings
(b) Interestpayments
(c) Borrowings less interest payments
(d) Borrowings and interest payments both
20. YT el i H ST facel fafFs o o= oFesl | gIfad T8l 8Id, I8 HEdld ©

(HE! fashea gfg) 1
(a) @TefelTas

(b) YT e

(c) G oA

(d) FHARISE B olFiaH
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Foreign exchange transactions which are independent of other transactions in the Balance of
Payments Account are called : (Choose the correct alternative)

(a) Currenttransactions
(b) Capital transactions
(c) Autonomous transactions

(d) Accommodating transactions
IfE IRafad M T 200 BRI & IR DI FABID 135 B, Al AIfSd M BT IREHT DI | 3

Assuming real income to be 200 crore and price index to be 135, calculate nominal income.

Y {7 A 7 AU 2759 Tch gdisy | 3
3rerdm
FHST & GaT Ayl R FrRI=T07 W= | ST @& &4 & faar 5 AT 2 |

Whatis aggregate demand ? State its components.
OR

Explain how controlling money supply is helpful in reducing excess demand.

T 3rfael] Hded | & | FHid SUHAT UgiT &7 R HIToTg : 3
TR 31T = 1000

FIAAT SUANT G = 200

e @ = 100

An economy is in equilibrium calculate Marginal Propensity to Consime :

National income = 1000

Autonomous consumption expenditure =200

Investment expenditure =100

USTel 3R STl BRI B! [deh!, [ 93 eeRl # FRAR 98 &1 & | 39 Adhel BNe] SIS
3R AT TR TS dTel YA} @l IRAT HIFTT | 4

Sale of petrol and diesel cars is rising particularly in big cities. Analyse its impact on gross
domestic product and welfare.

a1 o1 g &1 A el 99es | o a)] AfE | 9dEa 9Hwr b1 aEeE
oY fhar 87 4

VFkok

AT BT IR YA BT AS B FHRY | $97 a] AT § Hfa FARIT BT FHE
> fparg ?

Explain the 'medium of exchange' function of money. How has it solved the related problem
created by barter ?
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Explain the 'standard of deferred payment' function of money. How has it solved the related
problem created by barter ?

HASTEY NI &X' o YR F0T Gorid & RIS § e 8 Fad 2 | 4

Explain how can 'Repo Rate' be helpful in controlling credit creation.

oA Y MR YSITd &3 H 7 3faR 27 AHESU o IR WREN! Y fhd IHR FA H 31

P fIaRoT BT T B & FEIPH 8 Fhd ¢ | 6
VvFkok

U] Y IR ITYTe] Hx | T 3R &7 GAEH] B 3Mded Bl YITfdd B § IRBNI gofc bl
qfHehT HSIST |

What is the difference between revenue expenditure and capital expenditure?

Explain how taxes and government expenditure can be used to influence distribution of income
inthe society.

OR

What is the difference between direct tax and indirect tax ? Explain the role of government
budget in influencing allocation of resources.

g9 d5h I SUHNT deh UTed BHIFTT 3R VAT R F foTT S drel aROT 918V | 1= BT T
PIRY | 6

Given saving curve, derive consumption curve and state the steps in doing so. Use diagram.
gt faenfefal & foy uee wwar 28 & oI W |

SUHNT Theld FHEATSU | SUYHNT Theld REEKRICERS I W

For the Blind Candidates in licu of Q. No. 28

Explain consumption function. Derive saving function from consumption function.

YR faeres faaen d SuR d & | FefeiRad gl o S < - 6
(a) YT AT oiRdT & b IUIET 37 fhd Uel TR I8 SUR Gof 8117 BRSO |
(b) T YR PT ISR (AT TR R JHTG FHY |

India investors lend abroad. Answer the following questions :

(a) Inwhich sub-account and on which side of the Balance of Payment Account such lending
isrecorded? Give reasons.

(b) Explainthe impact of this lending on market exchange rate.

10
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ISR HIF TR Thel KT TS IR ST 311 ST HIFTU |

(1)
(i1)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(x1)

Find Gross National Product at Market Price and Private Income :

(i)

(if)
(iii)
(iv)

(vi)
(vii)
(viii)
(ix)
(x)
(xi)

oo sifos SuT @
faer @1 fae are] gwdiax
facen &1 fad sR® M
RGN 3 STHRT @
Hraret sTgcae o

et <o ot T
TRHR R el TR0
b EIN]

IREEESIDIG]
TRBR DI YT M

RIS 0T UR TS

Private final consumption expenditure

Net current transfers to abroad

Net factor income to abroad

Government final consumption expenditure
Net indirect tax

Net domestic capital formation

Current transfers from government
Depreciation

Netimports

Income accruing to government

National debt interest

g

e weT

(X crores)

800
20
()10
300
150
200
40
100
30

90

50

4,2

11
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MARKING SCHEME- CLASS-XII- 2016- ECONOMICS

B1 Expected Answer / Value Points Distribution of
Marks
SECTION -A

1 | AVC=ATC 1
2 (c) Equal to AR 1
3 | When there is change in a factor affecting demand other than own price of 1

the good.
4 | (c) Both monopolistic competition and oligopoly 1
5 (a) Perfect Competition 1
6 | The consumer is not in equilibrium because

MU_ MU 1

P P
X y

Since per rupee MUx is lower than per rupee MUYy the consumer will start

buying less of X and more of Y till MUx rises and MUY fails enough to 2

make

MU MU or 3 4

X < y I I
P P 4 4
X y

7 (a) Zero or no change (b) 10% fall (c) 20% fall 1x3
8 | For certain goods & services, govt. sets minimum price. This minimum 1

price is called minimum price celling.

This price is normally set at a level higher than the equilibrium price. This 2

leads to excess supply. Since producers are not able to sell all they want to

sell, they illegally sell the good or service below the minimum price.

OR

It the prevalling market price is above the equilibrium price, there will be

excess supply. Producers are not able to sell all they want to sell, resulting in

competition among the sellers. Price starts falling. As a result demand starts 3

rising and supply stars falling. These changes continue till the equilibrium is
reached.

12
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Demand refers to the quantity of a good the consumer is willing to buy at a
given price during a period of time.

Factors affecting market demand:
(1) Own price of the good
(i1) Income of the buyers
(ii1) Prices of related goods
(iv)  Tastes and preferences of buyers
(v)  Number of consumers
(vi)  Distribution of income (Any three)

1x3

10

Fixed cost refers to the cost which does not change with change in output.
Example: rent, interest etc. (any one)

As output increases AFC goes on falling continuously because

TFC
AFC = ---emem- and TFC is constant.
Output
OR
MP refers to increase in TP as one more unit of a variable input is increased.

Behaviour: As onlv variable input is increased

- Initially MP increases.
- After a point MP decreases and remains positive.
- Ultimately MP becomes negative

(1+1)

11

% change in Quantity Supplied

% change in Price

- 75
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12

There are three reasons:

(1) Wants of the people are unlimited
(2) Resources are limited
(3) Resources have alternative uses

'For whom to produce' means that how should output produced be distributed
among people. How much each person will get will depend on income of the
person. Therefore, the problem amounts to how should income be distributed
in the society

13
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13 | The three properties of ICs are:
(1) An IC slope down,wards from left to right 1
It is because to consume more quantity of one good, some quantity of 1
the other goods must be reduced because the utility level remains
the same. |
(2) An IC is convex towards origin 1
It is because MRS declines as more is consumed of one good
(3) An IC to the right represent higher level of satisfaction 1
It is because an IC to the right shows more units of goods consumed 1
and more units of goods consumed are assumed to have more utility
(No diagram is required)
14 | (a) Fall, in own price reduces(contracts) supply and the producers moves 2
along the same curve S from A to B when price falls from OPI to OP2 and
supply falls from OQ, to OQ,
y
PRICE
S
P,
P / § !
2 fFmmmmm - - = : B
o a q X
SUPPLY
(b) Rise in tax rate increases the cost of the goods. So its Supply decreases.
This shifts the supply curve slto S. Price remains unchanged at OP while 2
quantity supplied decreases/falls from OQI to OQ2
y SUPPLY /S
PRICE B - s ’ S,
P ) t
' 7 !
-, |
| 1
I
]
0 Q, Q, X
SUPPLY
For blind Candidates:
(a) Price Supply (b) Price Supply 1+1
(Rs.) (units) (Rs.) (units)
10 120 10 120
11 100 10 100
Any other correct schedule 2+2

Explanation on the same lines as above

14
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15 | (a) Large number of sellers means that number of frms are large enough
so that contribution to total output of the industry by any individual
frm is negligible. So, no single frm is in a position to infuence the 3
market price on its own by changing its own output. Thus, Price remains
unchanged.
(b) Homogeneous products means that buyers treat products of all the
frms as same in all respect as homogeneous product. As such no frm 3
can charge a higher price because no buyer is willing to pay the same.
Then Market price remains the same for all the frms.
OR
(a) The main implication of barriers to entry is that such barriers allow only
a limited number of frms into oligopoly industries. Such barriers may 3
be in the form of huge capital requirements, patent rights, availability of
crucial raw materials etc.
(b) Afew or few big sellers has the implication that each big seller contributes
a fairly large share of total output. This gives an individual seller the 3
power of infuencing the market price by changing its own output.
SECTION - B
16 | 'Flows' are variables whose magnitude is measured over a period of time 1
17 | (c) Residents
18 | Revenue receipts are the receipts which neither reduce assets nor increase 1
liabilities.
19 | (c) Borrowings less interest payments 1
20 | (c)Autonomous transactions. 1
21 Nominaiincome 1%
Realincome = X 100
Price Index
Nominalincome 1
200 = x 100
135
200 x135
Nominalincorne = — = 270 Crore 1%
100

15
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22

Aggregate demand refers to the value of fnal goods and services which all
sectors of an economy are planning to buy during a year.
Components :
(1) Private fnal consumption expenditure
(2) Government fnal consumption expenditure
(3) Investment expenditure
(4) Net exports Yox4
OR
Less money supply i.e. stock of money with people leaves less purchasing
power in their hands. Therefore, people demand less goods and services.
AD falls

23

Y=C+MPCCy) +1
1000 = 200 + M PC (1000) + 100
1000 - 200 - 100 700
MPC= = =07
1000 1000

172

Y

24

Final sales of cars raises GDP, because fnal sales are fnal products. Cars
provide convenience in transportation but at the same time it causes traffc
jams, air pollution and noise pollution reducing the welfare of the people.
Pollution has bad effects on the health of the people.

25

Money serves as a medium of exchanging goods and services. People sell
goods for money and use the money for buying goods they want. It has
removed the problem of double coincidence of wants faced in the barter
system.

OR
Deferred payments are postponed payments to be made in future. Such
payments arise on account of borrowing and lending activities. It has
removed the problem of absence of fnancial institutions in the barter
system. It has also removed the problem of trading in wider areas.

26

Repo Rate: is the rate of interest at which central bank lends money to
commercial banks for short period.

Raising Repo Rate makes borrowings by commercial banks costlier. So
these banks are forced to raise their lending rates. Since borrowing becomes
costly for people, they borrow less. Banks therefore create less credit.

16
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Revenue expenditure: is expenditure that neither creates any assets nor
reduces any liability while capital expenditure either creates assets or reduces
liabilities.

Taxes and expenditure can be used to alter distribution of, income.
Government can impose higher taxes on incomes of the rich and goods
and services consumed by them. The money so collected can be spent on
providing free goods and services to the poorer sections of the society. This
will reduce disposable income of the rich and raise that of the poor. This can
alter distribution of income.

OR
Direct tax is the tax whose liability to pay and incidence lies on the same
person on whom it is levied. Indirect tax is the tax whose liability to pay and
incidence lie on different persons.

The govt. can infuence allocation of resources for production of different
goods and services through its budget. When the govt. wants that more
resources be used in the production of some goods, it provides incentives to
the producers in the form of tax concessions and subsidies.

28

Given saving curve SS'

(1) Draw a 45° line from the origin.

(2) Take OC equal to as on the Y-axis

(3) Draw a perpendicular line from B to B' on OX-axis which intersect 45°
line at point B.

(4) Join C and B and extend it to get consumption curve CC'

NATIONAL
INCOME

17
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For blind Candidates:
Consumption function
C=C+MPC(y) 2
Derivation of Saving function for consumption;
Subtracting each side fromY
Y- C=Y-[C+MPC(Y)]
s=y-C-MPC(Y) o : 1- MPC=MPS
=-C+Y-MPC(Y) 4
=-C+Y(1-MPC)
=-C + MPS(Y)
29 | (a) Indians lending abroad is recorded in capital account of BOP account
because it leads to creation of foreign exchange assets. It is recorded 4
on the debit side because it leads to outfow of foreign exchange
(b) Lending abroad increases demand for foreign exchange. Supply of 2
foreign exchange remains unchanged, exchange rate may rise.

30 GNPmp =i+ tv+ (vi+viii) - ix - iii 2
=800 + 300 + 200 + 100 - 30 - (-10) 1%
=Rs. 1380 Crore Y
Private Income = (GNTnp - viii - v) - x - it + vii + xi 1
=1380-100-150-90-20+40+ 50 Y
=Rs, 1110 Crore Ya

18
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IMPORTANT FORMULAE

UNIT I : INTRODUCTION
CALCULATION OF MRT/MOC:
MRT = AY/AX; implies that MRT = Amount of Y given up / Amount of good X gained.

UNIT II: THEORY OF CONSUMER EQUILIBRIUM & DEMAND
CALCULATION OFTU FROM MU:
TUn=MUI +MU2 + ...... +MUn = ZMU
CALCULATION OF MU FROM TU:
MU =TUn - TUn-1; MU = ATU/AQ

Equilibrium Condition for Consumer Equilibrium (Cardinal Approach):-
> In case of one good:

1. MUx(MU in terms of money) = Px (incase MUm is one) OR MUx/PX = MUm ORMUx/
MUm = PX

2. MU must fall

In case of more than one good, say two goods:

1. MUx/Px = MUy/Py OR MUx/MUy = Px/Py OR MUx = MUy (If Px = Py)
2. Both MUx&MUy must fall.

Equilibrium Condition for Consumer Equilibrium (Ordinal Approach):-
1. MRS =MRE ieAY/AX = Px/Py; 2. MRS must fall
Budget Set = Px.Qx + PyQy < M

Linear Demand Function: Q = a — bP; where Q is Demand Variable & P is Price Variable, ‘a’is
constant &

X intercept & ‘b’ is slope which is also constant.

Price elasticity of demand:
1. Percentage/Proportionate Method:

Percentage Change in Demand

Coeffcient of price elasticity of demand (Ep) =
Percentage change in its price

19
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(Change in qty. / Initial qty.) x 100 (Aq/q) > 100
Thus, Ep = =
(Change in price / Initial price) x 100 (Ap/p) x 100
Aq p Aq p
Ep= ---- x 100 X ------ x1/100 ;  EP=---- X mmeee
Ap Ap Ap q

2. Geometric/Point Elasticity Method:

Ed = Length of Lower Segment of Demand Curve/ Length of Upper segment of Demand
Curve

3. Relationship between Elasticity of demand & Total expenditure:
a. If expenditure & price is positively related, Ed < 1
b. If expenditure & price is negatively related, Ed > 1

c. If expenditure does not change with change in price, Ed = 1

UNIT III: PRODUCTION & SUPPLY
Production & Cost
Derivation of TP from MP:
TP is the Sum of MP ie TP of 3 Units = MP  + MP, + MP,

Derivation of MP from TP:
MPn =TPn + TPn-1; MP is the slope of TP ie MP = ATP/AUnits of a variable factor
Derivation of AP = TP/Units of variable factor

Derivation of TC = TFC + TVC; ATC X Output, Sum of MC ie MC | + MC, + MC, + .....+MCn
+TFC

Derivation of AC = AFC + AVC; TC/Output

Derivation of MC = TVCn — TVCn-1; MC is the Slope of TVC = ATVC/AOutput

Derivation of TFC =TC — TVC; AFC X Output

Derivation of TVC = TC — TFC; AVC X Output; Sum of MC ie MC | + MC, + MC, + ....+MCn
Derivation of AFC = TFC X Output; ATC —AVC

Derivation of AVC = TVC/Output; ATC — AFC

20
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